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s & hdm&warks from this unit! Give all answers as simplified fractions or in
, unless otherwise noted.

-
. 2 PNt i Tl el F o
- B g Ffa s - [ . e 3 r 4 ] - -
v T4 RS AS ARAS V Al INgIN =
’ - == i) e G SR 4 Y - . .
PR TR r .f ﬁm valuas of the six trig functions for XC
& —1— . LY C S (
C - r.' ' ~ ‘: 0 ﬁ
: 4 e B re 20 . - - i <'
” Py - v - ] , | P Ay O L— ¢ a
T [ <~r.. ;1 - o\..,»_ . ‘ ; S‘ n C
. b 1 S - W | ==
. AT n ) o N :
- g » ’r 2R - e | . } o AP -l\'
' , 3 W v o] ' — ’-"
N L - N ‘ 4. 4 > 4 ) ,
' : S , (D> i -~ . - "': =, '.'.".‘4 p ) I
~T R el | W '
SRS e ——— e e
1 AN B .
' N | — yd be NG
.:l > - ~\ e -

2
2 34Y*=
A3 2¢ 7 ch
= 4 & 4
or problems 4-7, use the diagram of » ABC to fill in the missing angle letter:
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.2 Solving nght Triangles
Find all missing side lengths & angle measures.

8 a=3 m<B= 37°




1.3 Trig Applications
10. A boy flying a kite lets out 300 feet of string which makes an angle of 38° with the ground. Assuming

that the string is straight, how high above the ground is the kite?
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~ 11. A 25 foot ladder leans against a building. T
angle which the ladder makes with the ground.
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ee while its roots take hold.

13 A-Tnursean a new tree and attaches a guy wire to help support the tr .
- An eight foot wire is attached to the tree and to a stake in the ground. From the stake in the grourjd the
angle of elevation of the connection with the tree is 42°. Find to the nearest tenth of a foot, the height of

. -, the ;cq‘nnectian point on the tree. X

13. From thetop of a fire tower, a forest ranger sees hi
of 40°. If the tower is 45 feet in height, how far is the pa

he ladder’s base is 13.5 feet from the building. Find the

t an angle of depression
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18. If XZ =5, find YZ. N e, s
X A9 149 90
B X\ X *Xz
.
\’./ X 7 = {) !
I .o e |
% = 2 6 ' | gt"‘ ‘}
G af  HI "9 19, Find-a, b, ¢, and d. 2 ple «“
L s | 30 (O] 9V
A~ V£ | @
b S A — — =
' 5 o | b= 812 | X XT3 2

A - - - - .
"4 1 - .
— | AL/ 0 , ! va B - .
L= = | 23= 310
- X1H= 0o
- ' "_ 'P‘_—_'.'.'




